Previous Year Paper
MPTET 25 Mar 2022/Shift 1




AT e

o .
Professional MPPEB 2022
6 examination TET-Reports
board
View Challenged Items/ : : 3 5 : ] : . 5 N
R w38 View Report View QP View Candidate Responce Print Objection View Candidate Question Moderator
Print
Testdate 25 Mar 2022 v
TestSlot Shift 1 v
Submit
Passage:

- sfelifafad et ufda uumr faserramaa: Sfrdary Iw fuar frad|

ST I | TR AT T SHTH KT | Bl BT U d 58 A HERH A | TG G§ GrUTH0F G| T: Tl YT JF U9 SR arw Saiq | aaag: S | HeTedl ae Hadr Qg Ue ©
¢y U 3eH SRR Wi @ Me e |

YT G T T A U | & Sl I Anfiaar | Wi S §d: | e § TeIeY S9adi - "Heied, Hadl fendiy varest eyng sied arerd 2
i1 T sraeq - 1 HIH 3012 3 JE AR T3”| TPl Wed: Weddad - “Ble JGH Tad ? 3BT T JuuH | Sfick: e Ta v | wga: e W Yee: A A Il I I 3 et

Q.No: 1 HgIHH &% &: 3HNTddr{?

A k|
B R
C gfga:|
D Hri

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:
Hha:- elifiiad Tt afean usm fAseaeaa: ey S far Rrad |

PY TEIAT | T TH T B iR | UG P U d T GG DERH G | HEIE! U TR0 | 9: TT I3 IR T SR IH 3P | TETIHT: SIFTd: | FETe o Haard Qi T
H¢ TR THH 3BT JUUFEH RITIRIET G e S |

YT g I T A U | 8 Syl fF Aifidar | ui: S $d: | e § HeleTHH S9dd - "HEied, Hadl [udy vaes syhd sie amerd 2
ft1 FRTe Sraee - fh PEH 37 IE YO SR Ua” | Tyl Heh: Udae - “HIERl YO U ? 30T Ua SuuH | ik we: Ua e | Sga: 4Ridn H e i ] Sl I WiedH 3 craeimaiet

Q.No: 2 {5 HyH 3p1? 31§ Y& 31R¥ Tl - ¥ JElie?

A Biscae
B HETHT:|
C ST |
D yF|

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

T e et ufd@r vyt fas e aRes: Sfuaany I fHywr ferad |

DY TETAT | T A T B AR | BEIRIG Do Heeh: o S T HERH AT | AR TG TR0 | G: i I IS T HER IR S | ETamg: ATTd: | HETel ae) Hedr Qe U ¢
B¢ T THTH 3WBTH IUFT M T& Frsm s |

YT G R ST T W | S Sl I arfaar | Wi Sia: Sid: | Had: § AeIeT S9dT - "Heied, HadT fade varest seng sie e 2
feT1 HRTeT S - T PEH 37 3§ YO SIS Ta” | Tgedl aeh: Uddad - “HIEN YOH U ? SVPT U SUUHH | Sl e Td WA | §ga: 4T HH e Wit o1 Sdl IH WHTRhH S cHawiTaie

Q.No: 3 Hgle: JUHH fhArdi?

A R ||
B Eiicall
¢ Fe:|
D ek |
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Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

T el Terit ufd@r wymi e e aes: Ifdany I R frad |

Ty HEAT | T I T S S | SN BT WA d T AN PERH ARG | HEIE T8 GRHTU S| §: T W6 AT Gd PO aran] Saiq | TEaag: SITd: | HeTel A% Haamd Saide 0 <
F¢ TR T 3RHT IuUFQH R g e S |

& g A ST T U | SR Al f e | e: $ia: S | yed: § ST 3944 - "Heied, Yadr fend Ayt sved e ared 2"
fer 1 FRTeT S - "t PEH 37 IE YO SR Ua” | Tgedl Haeh: Udaae] - “HIEN YO T 2§V U U | Sl Se: Ud e | Sga: 4Rien H e Wi ] Sadl IUH WiiedH S srawimie

Q.No: 4 TaRMUEfy - 3 HdUE fw?

A T
B il

C 3EHI
D Erull

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

- Helfafad Terst ufdcar numr faderramiaN:a: Sfudany Iw fur firad |

B T | TR A T BAH KT | Bl S Y d S8 T HERH SMAa | TETHAl 98 TN S 9: awl I aiRie Ud $ER ari saiq | Eand: ST | HgTel aRll Haard R U ©
F¢ TR THTH SRS IJuUFQH RITIRIdEr g e s/@aiq |

W& g A PG T e | 9 FRA al fY aifdar] | e: $ia: S | 4e: § S 3994 - "HRied, Madr fndH TRy Send shed a2t
i1 T Sfaeq - I HEH 377 3 YU AW Ta”| Fgedl Weeh: Uedda - “HIe JEH TAd ? 3P Td I | Sfick: He: Ta g | wga: 4 W Yee: G A Il I TERPHH 31 et

Q.No: 5 "7gied, Hadl [ Taest S Sia g ?" - FrieATe far foradl

A Eiceull
B Yol

c el
D farmefm

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:
Haa:- srefafEd Teil ufdcar UuHi A ey : Ifdany Iu¥ [ faed|

Ty T | TR AT T SAGH ST | Pt S UaE: o T6¢ dard HCRH S | TETeHAT 9 GUTNU $d{ G a8l YT aie] Ud HEIR aH Sdiq | XEang: ST | TeTdl o Haard g1 U@ <
B¢ TR THTH 3P IJUUFEH RIMMRIET G e S |

Y& g I ST T I | A Al f e | e Fia: e | e § Gy 394 - "Heied, Yadr feud Tarest eed s ared 2t
gfer 1 HgTeAT Saee - fd Y S ofF YO S Uar | TRyl Ha: Uedagd - “PIeRl YOH U ? $i¥en Ua QU | vl de: Ua e | Sga: 4t HH e Al i Sel IuH wriedH o crarmafef

Q.No: 6 HEIEHAT g TR Hd T: FER IIH 3FIq - quedr< ug fer feradl

A T
B 8l

C PRI
D Ezil

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

- Helfafad et ufar uymr fAdcaremaN:a: Sidany 3w fuar frad )
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S B RS i e i L S T — T T " — o TR — CFpm— T RS TR

Ty TEIET | T A T B R | FEIAG B Hw: I T AT SERH ST | FEIHT 6 GRHTNU | G: Tt I3 9 0 SR ara] S | aTamg: ;| TIETET O e I T ¢
¢ TS T 3T SuFR RiRiEr e e si@id |

YT G T A W | & Syl I Afda] | W S Sd: | e § TeIeT S9adr - "Heied, Hadl fndn taest sy sia amerd 2
I T raeq - 1 HIH 3612 3 YE SR TI”| TPl Wadl: Ueddad - “Ble JGH Tad 2 3HT T JuuH | Sfiok: e Ta v | ga: e W Yee: A A Il I I 3 eIt

Q.No: 7 e - Ygwye ferad|

A q + =gl
B T+ g
C aq + Yl
D T + Sl

Correct Ans : C
Subject : Sanskrit Bhasha 02

Eassagg
ba:- relfafed Ten ufdar g Aeameaea: Sfiaanm Sw e firedl

Sy TRIAT | I A1 T4 BN K | el S Had: d F e HERH SMTAdF | HERHAT U8 TRITYUf Fd-| T: ai I IRH T FER aRIH SdHIq | TEEE: 3Td: | HeTdl au Haard i Ue ©
HC TER THH 3BT JUUFCH RITRIET G Far S/ |

YT g I T A U 1§ Syl fF Aifidar | Ui S §a: | Hed: § HeleT I9dd - "Heied, Hadl [0y vdres uad sie amerd 2
fer1 wRTe araee - fh PEH 37 oE GO SR Ua” | TRyl Haeh: Uedacd - "Bl YO U ? 30T Ud SuuHH | vk we: Ud e | Sga: 4RidT: HH gee: i1 ] Sl I WiedH 3 oraeimiet

Q.No: 8 WwigH &I faufda:?

A o
B =i
[¢ LE |
D it

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hepa:— St werst vl ymt fasaaesaa: Sfdary I fwr forad

ARFEA AT A= T

T Ao aeee==sl— =1
=T fiveTer Hed TgETaEg
i< Rt SrgardeT =6 1

Q.No: 9 WN[erIeH &: Pfd ?

A RISH
B oy:
C R
D o

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

b~ effrad veei ufdan uym e aya: Sfdany Iw faar frad|

ARF[EATATH =TT

T Ao TRl =1
AT fIveTE HRd TSR
X et Trgads g 1

Q.No: 10 it i veefafa 2
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ag

A
B AR

C TRy
D TEHIGH

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

e Jefifafad Teisi ufdn uymi fAscamsaya: Siidany 3w fiar fradi

EICHCEIEL G EUIER IR

T Ao geeEds =1
=7 fiveer e TqEaT]
i< fReeata =g g=n 1

Q.No: 11 &: iR fadiwafa 2

A YIgga:
B TR
C RYga:
D TRAGSTE

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

T Sreffere werst vl ymt fasaesaa: Sfdary I fwr frad

AT AATATH LTI
T oy FeAEEds =)

=T fiveTer gea TR
X et Igads g 1

Q.No: 12 o7 fawref oyt wafae

A e
B Pl
c s
D ST

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hhd:— Jelifiad Tee fdar UM fAseaamya: Sfdant Jw faar frad|

EIEVCEIELGEEEUIER IR

T e TerEEsd =)
=7 fiveTer gea TSR
i et Srgardsr v 1

Q.No: 13 " &= &1 faufaw: ?

A gt
B feefrar
c e
D =gl

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:
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e e TR et R T TSR ERERTT L T T R T AT e s e T

b Sefifafad veisi ufdan uym fAscarasay:a: SRdany I fawr frad

ARREAATATH AT

T Ao aeER=slH =1
T fiveTer HEd TSR]
i FRrenaata agads g 1

Q.No: 14 ‘U 31 3HFFH TS Bt T2

A v
B Al
c Gt
D g

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

dwa:- slifefad Teis ufdear uami fiesamaeea: Sfiaan Sw fawr figdl

A EATATH T ITd
AT Ay geAEEsfa =)

=7 fivezer gea TR
i Rt FrgardsT gg<n 1

Q.No: 15 ‘faciimaf 3 M &: a-Pr:?

A qe- PR
B - TPR:
C qg- TPR:
D faftfrgeer:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 16 -3 TORMIY Ty e fediiar-ggad & Tuq?

A SR
B STHT:
C ST,
D STHT:

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 17 ‘eI ... 3= JgfIaug feme

A PUS:
B e

c =
D gt

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 18 3MI=RYIAR Hid Ngl:?

A 9
B aud
C EEC
D Reaesy

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 19 faem 3ft ¢ &: ww:?
A A
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S L L M M

B k&t
c w5
D =

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 20 a0l YT THER:' 3 fAugareae IR & T2

A Bryer:
B Brysm
c Prem
D Eenii

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 21 i 3fa vew wafdr =if-

A HIED:
B e
C e
D Sfaar

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 22 JeReHdcaw 7g: P wfer Riemitgia arfedr: af=re

A

2 R
B forareficrarar: Rigid
C wftraam: R
D Tacarn: Rgid

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 23 TRigrbur e BHAY 3f, IGY SigH IuanT: g -

A WIS
B HEERT A
C AR
D [REE

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.NO: 24 I ovvvvrvennes e 9 ug Rorg-afffieT: orgigdf -
A FIRaan (Hifsan)

B THSIHRUR

c Hepfa:

D SR (SR

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 25 U&: fauicTe: a10: Jafd aq grud= TP Fa0l grildg fohad -

A a: faye fawd Htrd T TRrafa

B AR IR GBI Y VIR WargHareia] i
C N: S FEIT I TP

D T HE: A SRS AR 39 Teer

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 26 HUHYTH b RIEURIRATH IUHUH KT | G IughT: fpaa----
A squiferely ST Frtegd |

B BET TR sy |
c TR e e frerande |
D BT IR ARG |
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S SR e SR TN RS R AR mmy T ST T T TR T R —m

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 27 idH A UISRig R Ypdawqam Iudni Hafd Id: -

A T Tpasias 28 TR TE VMt SRR ST Fer Haf |

B SRER: PRERR eyl 7 R | 7w I Ju R SR g |
c T Ga T TS Wiy T |

D A T YSIA-T: UIo- Ferdl ¥afd|

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 28 @i (Children with special needs) tRIdHRIAaHTf F&1 sMavawar wafa?
A eI T

B eI FRAERI

C e A

D THBTHS- UL (Symbolic language) WA

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 29 BE: SeG-ageTw g Gl Hag: SUH ST w?

A faaR-Aiem
B TeE- IR
c <itfe-a1ed, favaR wRTE ety 9
D faR-wri

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 30 AT} Uit TR BRI ARG Fot FHIhAT?

A T
B eI
c INURY
D AT

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 31 7= & § g uei & Rasrd o1 Teief 7-
A g siftreniaa

B Faa R SRR
C Fad SHalig BT
D IR SiRrsid ud i sifnpfha

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 32 e[ 3R S Tedih & &Y J TR @ &l g

A T B GUR & T TR Tter a3

B T F FTER P Wi SHqAIDT B

C fRres, T 3R g1y BT e w®

D FHR 3y [l o 9w wR (STl H4T) W UEe=d FA

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 33 ¥=l & UW-fder 3 e Wifld &1 Rels W@ & $H-91 Yaiis JeHs 82

A g srrdt

B TiEmHiferdy

C fofaT wlen 3t SR -gfkTd
D EicE:c

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 34 T1d ¥ 3¥Td BT R’ T BT WO BIeh ©
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A o fafy

B e fafy &

[¢ TgaT Yol 3

D IS QR Holel &
Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 35 T Ruefor & g & 3 Rieror &1 Rigia 181 &2

A Torariierar 1 fiata
B IR &7 Rigifa

C 3 1 fgia

D Hfvref 1 Rl

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 36 i & ¥ oy Teioh Y HH-U1 U A Y &2

A THRIAE!
B e
C it
D Quar

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 37 = & & g gy fafy &1 snfasr famam ar 2

A e 3

B IRE A

C fafemm e A
D weh R A

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 38 IS & WARS fAera F faw Argumn St &t sawds & R & 5= &
MRS Rem & g af &1 gu,” 78 o e ¥ 3 e g 2

A T e

B AR A5

c W fder<

D T M

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 39 v q Hifle WM SMURYA SIS §
A @
B T
C W
D quf

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 40 TS TIMH 12 T &I o1 & = & T ifiss g1 Wva -
A we ¥ SrgrieT ¥ forg AR

B Fad TRD! DI G B F IR H g B iy
C Faa &gl o Hita H
D FId T4 RS AT § BRI

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 41 F=t & - B & SFHId Bt 81 e

A Y- T S IR W € R 9 iy

B FTH! T &HAT BT YR VAT R Y MRl g Ryang o =iy
c T B WS IS TR ST HEN AT AT

D
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T R TR RET RS AR TS ey T e, T T T TR T e R R TR BT S St R

urT-Rregor o1 Bk TG e s fRe
Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 42 11 i & U Ted Suga A &

A STHR FAT
B e
C ElSE
D g

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 43 UTST P PH&fl Bl AR HaT ST A1LT?

A gl =il ) P! §1a B IR G P ARG SrawR e
B oI e i ok 7= @ & g
C STl HINPTd gl W Safs ga 8

D EaRT R Yt Rt &

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 44 Wit faftel srawa g W 39 fafyy &1 v e anfee?

A Ya IRy

B wgte fafy
[¢ Jgy fafy

D 1] TR fafy

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 45 = Ureussn § Hig I & W&y 87

A T T F 95 W TS W

B el o=y d g7 o fawadl Y ug &1 wem §
C folia ©=u & Urg T B @1 TR

D 12 @R

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

& A AT e weiw S ugaR gy T U % 96 S SoR ad faded &1 9 Fifore-

{3 ot & Ta-oliiad $T SIS T UFS S 99 T §1 Oa-Shad &1 1 ot 8 o & sryagd onfassrY & srgar et a1l 33 ¥ snyfies g fage &1 g1 S 31 ot fagm = gy ofR A1, wifer
IR, Il SR ue, oliufa iR wft, fafrae ok 8@, sftrmar ok Rige qur iy ok dag oft @ iR @t &5 & ol =1 fordt 0 3 o omfam v § srfea fran 81 ot g ufvdw fag
faM & =R fgolt F IR F AR IS-T TRIRT A HaHT SR srgTfretsdt & § efbrd T 817, wed 9 i ol S Pt el 3 diaes srafver # f wiaeiia €1 avqa: e sree Ae 9t 999 99t Wi
A Y T UPfa AR WG &1 RRWR a7 T 81 fayH & orgue A a8 Wi veRr 3 gRwel ok wrersi o Wit UId R g1 81 3d 98 Bd-Bgal & UHIT F Wahid U Oakd el 81 fiega 7 99 emd
R aaar & §, 9e1 gaex (58 ft o1l 31 9= H 31 a1ed i § 31 FEReH & fafay w1em S8 gav 71 a0 W WER F Wl § e § wmg ofR W @) gl 9gd 0 81 T § ofR I fava T
R P R I & & F Sared $ i IS T F IR o1 g usd I i eF-ur & W §1 e oiR Rt & & A a1 & ftFeia 1 ReE & wedn A 0w Rt ol 9 & 9w
PP 3 AR T & UAY X IH1 ol WaR, fAFF A wgw o) Afge R v a3 ok e faa-usfa @ 31 i fi-uesal 3 99w srufazardl ok wig-wRerish § ged diax v vd Wyl
FX Gl § IR U Td TS Sfia ot ol ¢l 399 A7 $ T4 B il & srifaxars, yAgul ofR afeard [, va ok s & gfed firett 81 fovm 1 98 &7 Wa §1 9F4 & 9t i a8 fagm s g9
REAET® BTl A ghioa B0

Q.No: 46 Iufad MY & fore fe & 9 3Ifed <ide &1 99 FifeTe-

A I fora SR AFE
B A U4 ¥R

C R & TRamTes E
D T 3 Sifg e

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

e A9 R 7T T B gger U e U % el Sfd SeR arl fadwed @1 9ue Sifve-

faqm ol & THa-sliad $T SfIuIeT T s o1 99 T B 1 HFa-Shad &1 1 oft & oM & sryaud onfashRY F srgar et a1l 3 A snyfiss I fame &1 g1 Hearan 31 ot g 3 gy ofR AR, Wi
IR, SErmf SR P, Toiuf iR sfies, ffres ok 3, sftmmr ok Riee qut iy iR dag o 3 IR ol &3 7 el 71 ot 0 3 o smfom v @ srgfea fovan 81 st g ufaw fag
fagm & wRur el F TSR A AR IS U A T R srgiferarell F ) e A 919, Ugd 3 W 3R I St Wiwrell Y ey s H ot nfasiia 81 avgd: Q9 eriad WG @) ved o<t ufE
A F AT Ul SR W &1 RRMM a7 T 31 fow & o ¥ 9 9 veR 3 glawnsll ok Srerell 1 Wit Ui 3R IE1 §1 3| 98 BA-BgSl & U F HAHTd Ud 9 e 81 faggd A 39 o
3R ereran & B, dea gaER ol 1 ol B Gu= B F arpd i & B HEReH & Ry G 98 9oy ¥ 9 Ud $UR & 9l & aRer | gy R RIF 3 gRal 9gd o9 8 T € <R g fagg w
R P SR SN & & F IAEA F A afs T F DR A g1 Uedl F oS oF-ur § g 71 e ofR fifean & &7 & fogm 991 &7 siftFreria §1 fas™ & 9edm @ 49w eRell ofR 995 & oM@
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T R T RS A IRET R TR e e e S

- 0 v T

TP 3 AN T & UaW PR g1 31 WAnR, Ay 3 7gw &1 Sifse e yar B § R e fme-uefa & 81 e fmm-usal 3 a9 srifaar ok wfe-wRerist & 9o gia awl ud g
TR Dl ¢ AR U vd I Sl off Twar 21 398 I & H1 ) gl & srufavard, yAguf ok farRl faur, 1 ok s @ gfdd el 31 fagm @Y ue 37 W@ B1 9Fa @) @ik ¥ 9 faam A g
TIAS STl A giaiferd w1

RGO TR

Q.No: 47 Iuga TR & SR, R & =R Mozt @ e § wife

A TR SRR R st # 3 @ B1

B o wifasiter fmmerT 8 21

C fm iy sga wr R

D famrm Ierier faftrr fermmelt # S=ge i 1

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

=T 9 T U TRy 1 YeaR 4 MU URAl & e IRUd Sak aKd faded &1 79 Pifve-

R 3o & WHa-oliad ST RIS T b ST &9 T §1 WHa-Shad &1 318 oft 8 H & sryagd onfassrY & srgar e <11 39 ¥ 3nyfiw g fawm &1 g7 dear 31 o g 3 ey ol AR, aifter
i, JEmafa iR Pud, Yeiiufa iR sfie, Rl ok e, st ok e qur «ifF ok dag o 1 iR o &1 7 foell 1 foet 0 & sroy smfam Weg I e a1 81 ol wagan uiaw fam
R & =R el & TR A AR IS WRIRT a1t v R srgifrerell F @ e 1 9, U F wia 3R I St Hirell B diae sifer W oft e 81 avgd: 9 oriee T o ved o< ufF
9@ A I TS 3R W o RRW0 a7 99T ¥1 faE F orgue I a8 Wit yer ot Yl iR Fruerell F1 Wi UK $) 9FT 1 9/d 98 Hd-Hgel & UHIY I HEHId U WRd g 21 fagga A 99 o
SR e & &, e Taa it f Frf B wos B 31 ared fF & 71 TEReH &y w1 S gy ) g wd HAR & el & aera S whe OiR Wi 31 gl 9gd 1 TS § SR I fava
o 31 P R I F &7 F Iare 3t i 3 I & IR e g ugd § el e-urr & W= 31 Rign iR fafden & 4 A fawm @91 37 siftrrerita 21 fagm & wed @ Ay et o) R & ofe
RS T AR W H YA B g1 31 FAaR, fagm ¥ agw o I3 A uee v § ok dafe -l & 81 e faraa-usafs 3 099 srifaxarl ok Sfe-Rurish 3 4ad Sia) Wi wd gl
TR TH1 ¢ 3R qurf Td T oilaq off YohdT 21 S99 AW & TH B gl & srufawars, yrgel iR afarg e, ww ok erman @ gfe el B o @Y 95 37 W 71 7 &) =it g Rem S swe
IS HE! F gl SR

Q.No: 48 Iudfad ez & AR, RTH Ad 3 Jod 9! WA 3R 81 T & i 39 901 A 79

A Taega <ife &1 @l T R
B "l B RRER 81
C oreTa T RHR g1

D vl SR T B RRAR 21
Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

e 9 R U Ty B deaR g e usel & 9ed Ifad Sar ard faded @1 Te Sife-

3R 3o F Ta-oliad $T RS T 9 ST &9 T § 1 Wd-Shad &1 Bis ot 8 R & sryagd SnfaseRY § srgar e a1l 33 ¥ Sy g fawe &1 g S 81 o fag 3 g SR A1, i
IR, JeTafa SR Fues, Jeliufa SR sifire, fafrae ok A, siftrrar ok Riere qur oify iR dag ot &1 ok Tl &1 & ol =1 ot = & ara amwfaw v 9 orgiR fovan §1 ot wrgan uRkaw fag
o & wRor el & TR A AR ISt WY a1 vy ofR srgiferamrell & 2 e T A, Ud § Wa IR O ot Hrsll 3 A srafer & oft nfasfia §1 aigd: 9 e T ot wed o ufF
T Y AT TP SR TR B RRM0 & 91 ¥1 A E F ogug @ 98 W ueR Bt glawrsh sk Tersh o1 @it uid 3R 91 §1 37 98 Ba-Bgel $ UHIT 9 Wi Tl I 79 ¢ fggd 7 39 e
SR Sitcerar &t 8, T garx okt 2 B &1 =T B B aiwd 2t < 71 AR & fafdy arem 98 gay B 9o Ul R & el & aer 3 wmg ofR Il o gival sgd 78 91 T § ok T favd w
R P SR Ie & & F S 1 i IS N S PR 31T g Ugd F i F-ar & W 81 e SR Riften & 8 7 fawm o & sftFeia §1 e & weai @ HoS Rt SR 9 & one
FRF 3 AR e & UAY IR IHI 31 WAR, RAFF A 13w 9 e [Aem v a3 ok 39Re faaa-usfla @ 31 39fe fiA-veal 3 99w srufaxardl ok wfg-mRerish 3 ged glas v ud gl
TR Pl § AR T Td G Wfe off IHhdr g1 TH9 I F T4 B G $ srfaxars, ymguf ofR sfrar e, wg ok o 3 gfdd firel 31 fawm 9 ug &7 Wa B1 9Fa @ 9ive i a8 faam v g
TS Bl 7 G B

Q.No: 49 I TN & IR, ‘FHaD’ Teg A 1 A §?

A g Wdg S

B W IR I ST

C Y Y BT

D <l TG 910 & Wahe 81 o 31 EaRT

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

fEer: R T U TR B UgaR g Y URAl & 9ed I SaR ard faded o7 T Fife-

IR ol & AHa-Sia $1 SHfaUeT T3 9SS SFT & 41 § | THa-Siad &1 1% i 47 faM & Siyaud SifaspRi I oyl el Xe1l T & SMyf® g fauH &1 g7 S g1 o fagH 7 g SR N, Iifeer
IR, SEmf SR P, Goiufa iR ufis, fafres ok 3, oftmm ok Riee qu iy ofR aag T 3 oIk @l &3 7 el 71 ol 0 3 o smfow 1w @ srgufed fovan €1 st v ufaw fag
fagm & =R el F RS A AR I R A v R srgiferatell 2R I 9, Ugd 3 wd o I Fot Wimrall Y wigex s H ot nfaxiia §1 aig: e s Td @) ved 5t wfE
A Y A U SR TSI BT RRWM0 a7 T 31 fowm & oy ¥ 9 9 R 3 glawmell ok Srgrell o1 @it Uik 3R 961 §1 9| 98 BA-BgS & U J Hahid Ud W el o1 faggd A 39 o
3R e & g, ae gareR Rl f o1 @ w= B 39t dred o § 31 TEReH & fafdy e 3 gew ¥ arard ud WER & Wl & afder | wng ok Wi o) gl g 0 @1 TS § oiR wran faxd w
R P SR SN & & F IAeA 3 g afS T F RO A gRaT UBd F o oF-ur § g 71 e ofik fufren & &7 A famm 9t & siftmeria §1 fagm & ednT @ 99w eRet ok 99R & oM@
TP (G AR T & YA R A1 31 WAR, g I 17w 9 AiSw R vam B § R e fe-ush @ 1 9fe RiA-tsal 3 99 srifivarl ok wfe-werish 3 ged gk @i ud Tl
PR qHAT § IR Turf Ud TR o it Ghdl g1 T T $ T B A F A, ool ok Sfeari fauR, vg SR srmar § gfda firc 31 fosm 3 w5 €9 Q@ 71 UHa &1 91T % g famm et s
TS S A giaifed B

Q.No: 50 % & @ 5 ug @1 wair Iwdad e & e foan man 82
A fr-usfa
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S L e R S T U S sl R et T T AR ERETTL T T e R TR AT TAS T A T T ey T 6 gt S g T RS TR T T e AT AT g TS TR LTI T AT BTN g AT NEASE et e 0 e e AT e T
B -4

c SH-9EA

D wig-mrwait

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:
e 9 U U TRy 1 YgaR U@ MU URAl & e IRId Sk A [aded &1 99 Fifve-

faq ol & wFa-sliad $1 SifuIey Td Ufiss ST &9 TR 31 WHA-Siad &1 318t 83 faeF & sryagd onfassRY d srgar 61 w11 301 ¥ snyfie g fagm &1 g7 Searl 31 o< g 3 ey ok AR, Tifgek
oo, JEmafa ofR PP, deiufa iR i, Rifea® ok &, st ok Riee qur ofF ok dag o 1 iR ol &1  forelt 7 Reeht w0 & Sro smfow weg I SR e 1 ot wvg@n aiaw g
o & wRor iRl & TR Y A5 I3 URRY A A R srsifrrell & e Y 9, Ugd 3 Wi R I St el Y Ay s 7 of niosia §1 avga: e srE T @ 9ed o ufF
Ta Y T TP SR U &1 RRW0 97 991 §1 fa7H & orge ¥ a8 Wi ToR 31 gfaemsht ofRk Frersi o1 [ifta Ud &% 9o1 g1 3/ a8 Ba-Bgsi & YT I Yarhid Ta W el g fagga 7 39 oM
3R e & g, e qae et ot SR B wos H 1 ated ff ¢ 71 TEReH & fafty w1em S gay ) g O SAR & @Rl & aiera S h o) w9t gl 9gd FH @1 T § SR T favd @
w31 P R S F & F Iaarer 3 e IS N & DR o g e I o o - & W 2 Rian oiR ffde & & fawm @ & et 31 faem & Wi @ Ay Rt ofk v ¥ orie
PRSI IR AP H YA BR g1 71 AR, fI7H ¥ 79w & «fF Ao uee far § ok dfe - § 81 e f-usals 9 m9s smifizarl oiR Sfe-uRmRmsit § 5u gio) @i ud gl
IR Dl ¢ IR U vd I Sfia off Sl 81 398 B9 & T ) g & srufaard, waguf ok farRi faur, 1 ok s 9 gfda fired 31 fagm @ ue 37 W@ B1 9Mg @1 @i ¥ 98 faam St g
EFIAS Sl A g B

Q.No: 51 w1 & ¥ Jeniw-Rma &1 @m ot 37
A W T4 Ggied R

B i e
[¢ W fam
D Yt T R

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

e i o v iY@ UgeR g T Ul & 9ed Ifd Sar ard fade &1 7e Fife-

ORI 3% & AHa-Siad F1 SHfaUTsT T 9t SRT &9 1 § | HHa-Sitad &1 1 o &7 R & Siyaud faseRi 9 SRyl el Xe1l T8 § SMYf® o faxe &1 g sgard g1 o fagH 3 g ok T, aifeer
Ieifad, JeEmafa ofR Pue, dellufa iR «fte, Rifvas ok 3w, st ok Riee qur iy oIk dag 9 ) iR @l &1 F el =1 feedt = u & sram smfow v & srpfed far 81 ot wvgan ufvaw fag
o & =R el & TR A AR a9 TR a1 v R srgiferemrell F @ el A B, U F R 3R I Bt el B A sl A oft i 81 ag: e ok wea o 9ed o< ufF
9 Y IS UPla SR WRRTD F1 RRWO &7 91 ¥1 fage F oigug & 98 @l UeR ot glaush ok Frersh &1 wWifta uid S 91 §1 31 98 Ba-Hgel & U 9 waIhid Td Hd e §1 faggd 739 e
IR e & 7, T TaeR [ ot Bl B W BxA 3 arpd off < 81 FEReH & fafay e S8 4oy § 1 9 W6 9OR F Wi & aler § W ofR Wi 3 gitat 9gd o0 91 T § SR 9 favg w
W R P IR TGN & T I B g 3§ F DR T T T G Sl e-or § T 31 Rign SR R & 47 7 Ry 31 3 siftreeela R o & wea @ igs ok SR g & e
IR T AR AP H YA DR g1 31 AR, fa7H 3 79 1 I fawr uer foar § ok Iafe fA-ugla & 31 dafie faaa-ugals 3 199 srifasaril oiR Sfe-wuRisht 4o Sia) Wi v Il
TR G 7 AR 7Y vd G e off Thar 81 39 T & 99 &1 @ F srifaxarst, ymgef ok afear e, 1 ok s 3 gfd el %1 fawm 9 g & W@ §1 99 @) @it ¥ 9 faam a3
IS Sl H giaifed a1

Q.No: 52 7= & § PH-I1 WIsg " SFEIa’ &1 yafaardt 78 27

A HUE
B TG
[¢ ST
b P

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

A R T 1T i B ugeR g e U & Hed Sfd SeR ar faded $1 9ae $if-

IR 319 & AHa-Siad $1 SHfaUTTT T 9SS SRT 9 41 § 1 THa-Siad &1 1% o &7 O & Siyaqd SifaseRi 9§ SRy el Xe1l T8 § S1yf® g faxe &1 g g g1 o fagm 7 7o ok 78, wifeer
I, SErmi SR Py, Yelifa SR sftre, Rt ik 3, sftrmr ok R aut wfy SR aag Wit @1 o Wit &5 7 et 71 fodlt w0 7 o smifom v & srgyfedt v €1 o wvgan uivaw faw
fam & =R feeh & TSR A AR I- WRRT a1 vy ofR sreiferamrell F @ eRa A A9, Ud 3 Wa 9fR I St Wrrell 3 A srafer & «ft nfasiia 81 Sigd: 9 srrad T ot wed 5t ufF
T Y T UPha AR TRERTT F1 RRWR a7 661 31 fiTH & orgue @ a8 9 UeR 3 glaweit SR wrersl o1 @ifiia UId R g1 31 3d 98 Ba-Bgal F UHIT A Wahid U Gakd Aol ¢ fagga 7 99 omd
3R Wi §f 7, g qaraR 5t ot w1l ) T S 3t ared < 31 FRReR & fafdy e S8 gov §1 UIaRd Od 9ER & W & aler € W ofR wIFT @t gival 9gd o1 @ T § SR g fawa w
W P R I & &7 F I F e IS T T IR o1 g e F il oF-ur & W 81 e ofR Rifven & & ¥ fawm 9 & oftFeri B e & wedi @ was okt oiR 95 & ohw
TP 3 SR AP B TAY TR IH 31 WA, FH 7 79 o) S far ver fran § &R e fraa-usfa § 31 afie Rim-ueafs 3 oge srufazar ok e-wmmriedt 3 ge e @i v gl
TR FH1 ¢ AR gurd T4 IS Wi off Gl 31 THY AT F T B g F srufazarst, yrgel oiR efrargE e, v ofR o § gfdd e 31 T 31 07 37 WE €1 7 91 =1fse f ag fesm s
TS BTl # GG B

Q.No: 53 =1 & ¥ RRm0dr § si-f Ay 32

A oy 9y
B o |y
c o wfr
D & iy

Correct Ans : C
Subject : Hindi Bhasha 01
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Passage:

FET: B B UgHR IS T URAT & T IFd IR 1 b T 9T BI-
for o 9 Ao sft 39

o gl g § 59 g & Aa A,

W U@ g1 R TP Yo & 4@,

RS T & -3 - F,

T© &R 1 5I01-951, Higal-4I-

1 T P, TN e Fgl W, [ o6 2
TR o R 9§ 3 g1 ol yerpr-a,

A oft w5 Y e Sw W@ A,

1 TIeR P Se-Ueht 61 po HA A,

St offeR ot Hral BT SHer-uis w4,

S fopan, S @1 B B AO o,

S g1 Gl 79 $ SR F ST Tal

Sfig @t 3ar-4Tdt § e o v,

$T R Fel R 3 Fff 78 W 9,

S faban, a1, A IFH T GRA-Ha|

Q.No: 54 =1 § 9 Iudad wEiv &1 S=ig Hid T 82

A Sfa Bt amor-emh

B T B AT BT SARET
C I FT SHe-Ue

D TFPT-gapl, HiTaHT-|1

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

& e 1 TeaHR I Y WA & JaY Sad IaR d1 [aded P ag Hio-
fora &7 B < ol 89 <,

# g1 gofl § 39 Pl $ A 4,

T TP g1 W TP YA 7 I,

W@ W g - I-A F,

PO XX TG1 gHbI-apl, Hikdbl-4l-

3 TT HgT, TN B TgI Ol 4 g ?
T U TR & 3ma1 8 ol yerpl-4,

9 off 5 T fFm su @ F,

1 TR 3! 3A-Ueh € g A A,

it iR ot wrdl BT SeT-uie A,

St fora, S &1 Hx @t Ao o,

N el ot T & ieR | 397 Fawl
Sitas 31 -t # Sa o i,

PO R e W 38 B T8 I9 9%,

Sl feba, BT, A1 IUH T GR-Hel |

Q.No: 55 Iufad Ufdal B wga *Siueil- o0t -a &1 fe 8§ & 7 R 87

A A=A

B = &} a1

C T B REA
D waref e

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
T ST B UgHR I T UA S T I IR a fadbed BT 9 Biforg-
for &7 3% S ot 9 &,
A g g3 G H A,
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/43
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TP 981 R TP Yo 7 e,
TP A g - 3 H,
F© X Y61 SHbI-TaPl, WPl
3T T e, T B TgT SN [bE ST ?
TR &b R 9 3 81 dl yerpr-,
T off T5 1 T ot S XA H,

1 9% 31 sa-Ueht §1 po oA A,
S 2fieR +ff wrEl 1 Ser-uie T,

ST e, I @1 B B Ao o,
SN FEl ot T ¥ 3feR Y I T
Sia @ amar-erdt B o qa e,
TO R FYl W 96 Fi 78 99 9,
S 31, Fgl, AET SUH 1 gI-Hal

Q.No: 56 IR{ad T & SR ‘gadbl-sabT’ § fFam @i am §2

A Sfror-emdt
B Ia-gal
[¢ JaT

D iEcED)

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

A& PIH B UGN g T U & T I IR a1 AT B 79 Fifon-
for ot I Ao oFht B9 2,

AT g W S AT F,

TR T T8 W U@ Yo § 3w,

T U@ W g -3 3-AH,

PO R T TIHI-9aPI1, Hidaw1-gl-

S TR g, 1 e Tgl Sy 6 ShTg 2
TR T TR® ¥ 3 gl Al 4abl-4,

9 off 75 Y= P sa W@ A,

I TR &1 Sell-Uelt § $o HA R,

Sit iR ot Gl 31 ST-die Ha,

SN foran, S @1 X B o o,

S el a9 & SR § 39 g
Sitaq @1 amar-erd} ¥ Fa e foren,

$9 R B W ¥ T 98 T P,

S f&a1, ST, T IH H1 gRI-HeT |

Q.No: 57 Iufad ufekdl & 1 4 fowet oo 82

A Site 3 HAI-gls BT
B SR a1 BT

C Rl JRART BT

D Rt F Ty Frawan BT

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
S Srour B ugeR g MU U & Yad Sfd Ser o fawey $1 94 Fif-
forg f A9 A orft 7 <,
AgeIgNgsaghm» Aa 4,
T U Ul W U o § 3w,
T UE T g -3 3-Q F,
TS X Y61 5II-aaT, Hiepl-al-
3T T Fel, T ¥ Tl Sy for ShTe ?
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T3 U TR § 3 g @ eRpI-4,

B off T8 T fopar S X A,

1 AR 31 S0l € F T A,

St ofieR oft udi o1 SgT-uig T,

SN o, I Bt R B Ao o,

S P 981 T & e § S Tl

Sl &1 smur-udt § e ged fiven,

TO N Yl W 95 7 75 99 9,
S 351, Fel, AT SUH T GI-Hel

Q.No: 58 Iudjaq veriw gi fba o Sk @ear 87

A el & vy oo fERt & g

B HRAT TRART & Ufr S ey & e
[¢ fasm & fog

D Bicicrica

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

= Sroui B UgeR g MU U & Had 3fd Ser 9t ey @1 99 -
for ot 9 o oFht 9 &,

# TS gen § 39 gF F AW,

WS U5 W TP Yaa & g,

W TS TR -3 33 7,

PO R 1 TIPI-9aP1, Hiaaw1-gl-

ST TR g, T S T8 W 5 g 2
Tt U TR & 31 8 ol yal-4,

19 ol v g P s W@ A,

TN IR DI SA1-Uelt 51 $& A R,

S ofieR i widl &1 Sgr-uis T4,

S fbar, I &) S @t e o,

S g1 981 7 & SR § S Il

e 1 Sar-erdt H Pa e T,

To W T W I i 75 99w,

S fba1, gT, AT SHH T GRI-HaTl

Q.No: 59 ffafld # ¥ H1H-T1 Wsg TR BT TART R a1 T 82

A ritar
B SIgaH
C iy
D g

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

& HTeA 1 Uga IS Y U & Ja Ifad Iak a1 faded 1 99 Bifere-
fora for A8 A seft 79 2,
G g g S G & A A,
T UF 81 R T Y T ¥,
W@ @ g - 3-A F,
FO R QT G-, HiTaHI-HI-
3T T g, T F gl N o g ?
% U RE J 3§ A -4,
Y oft 7 g frar w XA H,
1 TR BT STAI-Ueh B P A M,
St iR +ft ural &1 Ser-uie T,
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R DL i A SR A T TR S s e Y ™ . I

SN o, I @1 R ) Ao o,
il el G681 71 P SR J S =Tl
Sl &t smar-urdt § wa god fiyen,
Po R TEl R 3 T2t T8 W TG,
S {3, el, AT SH o1 gI-Hel

Q.No: 60 FwfeifEa & ¥ gn’ o1 yaigar v 741 37

A [qE
B Riciel
C Gt
D Cruicy

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 61 What should come in place of the question mark (?) in the following question?

2466894 13 o VIT56+113=2

Frferfaa wer 4 werarass fog () & M W T 1T Re?
13 X V1156 +113="

540
A

540

535
B

535

555
C

555

545
D

545

Correct Ans : C

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?
2466972

12.25+2.6x7.5=7

FraffEa wy # wsarad fawg (7) & ®IFE W 7 S{F afee?

12.25+2.6x7.5=7?

38.40
A

38.40

36.45
B

36.45

32.25
C

32.25

31.75
D

31.75

Correct Ans : D

Subject : Mathematics

Q.No: 63 What should come in place of the question mark (?) in the following question?
2467025

[Bx 16 +256%x512]+~2°=1
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S o S B L TR T b S A I R

FraffEa uy # wsaras fawg (7) F ®IF W 7 SHE afee?

[Bx16 +256%x512]+2" =1

6
A

6

8
B

8

5
C

4
D

a

Correct Ans : B

Subject : Mathematics

Q.No: 64 Average age of Ravi and Shyam is 50 years. If Ravi is 30 years old. Find the age of Shyam in years?
2467302

M TR am 3 Sfgd 9y 50 @Y 71 TS A 30 9 F1 1 A W B oy I W H P

10
A

10

30
B

30

70
C

70

50
D

50

Correct Ans : C

Subject : Mathematics

Q.No: 65 The roots of the quadratic equation X — 24x + 144 = 0 are:
2467707

foTa BRI 2 - 24x + 144 = 0 B HA &-

-12,-12
A
-12,-12
12,12
B
12,12
6,8
C
6,8
-6, -8
D
-6, -8

Correct Ans : B

Subject : Mathematics

Q.No: 66 The greatest number that always divides the difference between a three-digit number and, the number formed by reversing its digits is:
2467730

T6 Y TS O Sl GHRN T S{di DI WO SR 38D 3! B IJac A T dreil G B did B R P o el B, 8
A 9
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11

11
101

101
99

99
Correct Ans : D

Subject : Mathematics

Q.No: 67 . - . .
368007 If\/; Vi V19, then the value of x is:

afe Vx —:—JT:JE,F&XWWH%:

164
A

164

264
B

264

176
C

176

361
D

361

Correct Ans : D
Subject : Mathematics

(224’\('5‘; 16188 In the given figure, ZAOB = 90° and COD is a straight line. The values of x and y are respectively.

A B

A B

25°and 15°

A
25° 3R 15°
20° and 30°

B
20° 3R 30°
15° and 45°

c
15° 3R 45°
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S SR e SR TN RS R AR mmy T ST T T TR T R —m

RGO TR

N 10° and 60°

10° 3R 60°

Correct Ans : B

Subject : Mathematics

Q.No: 69 Simplify:
2468248

81
256

81

256

81

256

256
g1

256
g1

256

81

256

81

Correct Ans : C

Subject : Mathematics

Q.No: 70 Which of the following represented 10 times a number added to 12?

2468362
Frafafea % 3 oF 12 7 SIG TS B0 $I 10 T <ial 87
10x - 12
A
10x - 12
10x - 10
B
10x - 10
10x + 12
c
10x + 12
12 - 10x
D
12 - 10x

Correct Ans : C

Subject : Mathematics

Q.No: 71 What should be added to 3x + 5 to obtain 15x - 12?
2468414

15x - 12 U A & AT 3x + 5 & 41 gl 97 Aige?
12x + 17

12x + 17
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S SR e SR TN RS R AR mmy T ST T T TR T R —m

RGO TR

B 12x + 15
12x + 15
12x - 17
c
12x -17
17 -12x
D
17 - 12x

Correct Ans : C

Subject : Mathematics

Q.No: 72 Principle of ‘General to Specific’ is used in

2468436
ARy SRR A ww fem e g
Inductive method

A
SRS fafd
Deductive method

B
R faf
Synthetic method

C
Ridfes fafy
Analytic method

D

o fafy
Correct Ans : B

Subject : Mathematics

Q.No: 73 What do you mean by constant errors on the basis of form of measurement and evaluation?

2468490

STYHT AT 3R Feid & YR R RR Ffedi I 71 Aded g2

This type includes measuring errors in the form of measuring tool
A

T UGR F W0 F IUS0 F w4 F Ffed Y A k¥

This includes measurement errors occurring due to administration of measuring object
B

Ig |G Ffeat W19 SUGRY & Frarany & SR gl §

This includes measurement errors committed by measurer and evaluator
Cc

g WG Fedi 7w SR i & gRT ufiafedl & HRU S ¥

This includes the errors in the analysis of measurement results
D

g A Ffeat A ool % faxcwr & Ffedl & eRu ¥
Correct Ans : A

Subject : Mathematics

Q.No: 74 In which age later childhood occurs ?

2468640
e e g g A AR B 2
4-8 years
A
4-gaf
6-12 years
B
6-12 9
C 3-5 years
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 19/43
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3-5 9§
13-19 years

13-19 7§
Correct Ans : B

Subject : Mathematics

Q.No: 75 There are 180 voters in a town, 135 of them voted for a particular party "A". What percentage did not vote for party "A"?

2469599
TP H T 180 HAEI 8, 370 ¥ 135 A To Ry uref A" 1 die fean) uref "A" & fu fram wiawra 3 waer 731 fare
75%
A
75%
25%
B
25%
30%
C
30%
50%
D
50%

Correct Ans : B

Subject : Mathematics

Q.No: 76 The ratio of 21 km 600 m to 600 m is:

2469655

21 fFrt 600 HieR & 600 Hex &1 o &:

25:21
A

25:21

36:1
B

36:1

5:3
c

5:3
D

1:2

Correct Ans : B

Subject : Mathematics

Q.No: 77 If p(x) = (x*+ 1)(x — 1) and q(x) = (x*~ x + 1)(x3- 3x + 2), then find the HCF of d q(x).
Sibnosg TP =(+ 1)(x~1) and q(x) = (¥~ x + 1)(x* - 3x +2), then find the of p(x) and q(x)

TG p(x) = (x3+ 1)(x - 1) AR q(x) = (x2— x + 1)(x? = 3x + 2), W p(x) AR q(x) FT HETH GHITAD

T BT
(=x-1)

A
(x-1)
x:-x+1)

B
(2-x+1)

c (- 1EI-x+1)

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 20/43
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x-1x-x+1)

(x}+1)(x*=3x+2)
x}+1)(x*-3x+2)

Correct Ans : C

Subject : Mathematics

Q.No: 78  If the remainder is equal to 7x — 9, quotient is equal to x — 3, and divisor is equal to x?- 2, then what
2470007 will be the polynomial?

%R;Hﬁmhw%m%,ummx—aéﬁzm%,ﬁ?umxz—:z%m%,a’ra‘g’uaw
?

x3+3x2+5x+ 3

A
X+ 3x2+35x+3
x¥+3x2+5x— 3
B
xI+3x2+5x—3
x¥I—-3x2+5x—3
C
xI—3x2+5x -3
xI—3x2+5x+3
D

xI—3x2+5x+3

Correct Ans : C

Subject : Mathematics

Q.No: 79 If A:B = 4:5 and B:C = 3:5 then find A:C=?

2473329
g A:B = 4:5 3R B:C = 3:5 QA A:C=?
4:3
A
4:3
3:4
B
3:4
12:25
c
12:25
25:12
D
25:12

Correct Ans : C
Subject : Mathematics

Q.No: 80 In the cone of experience of Edgar Dale, the effectiveness of teaching aids from top to bottom goes on:

2475540
TSR 34 & 3gHT & FH A SR A N a0 e Tgoe wrl B yumasiie -
A increasing
remains constant
B RrwRE
decreasing
[¢
b
D none of the given options
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 21/43
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fau e fampedt & 4 B T

Correct Ans : A

Subject : Mathematics

Q.No: 81
2479403

Which two signs should be interchanged to make the given equation correct?

72+8x3+12-5=34

few ¢ Tt 31 T& § R & R fbA A R &1 oo F agen S A@ige?
72+8x3+12-5=34

+and -

+ R -

+ and x

+ 3R x

+ and +

+ IR+

-and x

- 3R x

Correct Ans : C

Subject : Mathematics

5 © .l e ooms T T

Q.No: 82 Given interchanges: signs + and +, and numbers 2 and 5; then the value of 18 + 6 x 3 + 2-5is

2481019

T T Fexa (3T H See): g + o +, IR AWM 2 3R S5; W18 + 6 x 3 + 2-SHAM

12

12
14

14
16

16
18

18

Correct Ans : A

Subject : Mathematics

Q.No: 83
2481381

D

Memory questions are used to test:

vl BT OReor F3A F g Iud faan S g
previous knowledge of pupils

e &1 od 7

present knowledge of pupils

ferenf¥fe @1 oA I

interest of the pupils

faenffel @t iy

discipline

ST

Correct Ans : A

Subject : Mathematics

Q.No: 84

2481806

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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RGO TR
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B 13%
13%
6%
C
6%
3%
P 3%

Correct Ans : B

Subject : Mathematics

Q.No: 85 In a lecture a teacher should present the students with examples of:
2481813

TP M H & e &1 Bl & Fafiad Iaevl & 91 Ugd S 91ey:

foreign cultures

§ e wepfot
familiar daily life experiences
? o 4 e & o
imaginary scenarios
¢ Bl URET
D unfamiliar'objects and ideas
awH

Correct Ans : B

Subject : Mathematics

Q.No: 86 A good drama does not include

2481948
TP 33 Ted § i TE &
Interesting story

A ferae wgrt
Alive dialogues

° i 9
Very long play

¢ §gd <l AP

D Subject full of feelings
TSl & 4R fwr

Correct Ans : C

Subject : Mathematics

Q.No: 87 The alternative name of the “table of specification” is?

2482559
“Rfdw 3 aferer &1 defds am §?
Test Blue Print
A = fife &1 wam B
Test Construction
8 T fwior
Test Administration
¢ &0 TR
D Test Scoring

Correct Ans : A

Subject : Mathematics

Q.No: 88 Need for Remedial teaching can be identified by

2sasee STARIETE a0 B AEHA DI Tga™ [6up gRI B o Gl 52
Home assignment
" 6 TG
Careless behaviour
? TAMURATE AIER
Shy nature
¢ Sfen s
Physical Disabilities
? iR R

Correct Ans : A

Subject : Mathematics

Q.No: 89 "Mathematics is the language in which God has written the universe".
2482703

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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S R e

These are the words said by

"RARfeR 39 § AW 1 faT TS 891 Rewt € gRard™

4 ve% o G Pe M E?
Galileo Galilei
. e el
Marshal H. Stone
8 ARfe g, @A
Locke
c o
Glca
Benjamin Peirce
D

S R
Correct Ans : A

Subject : Mathematics

Q.No: 90 The sum of the digits of a two digit number is 54 less than the number. What is the difference between the digits of that number?

2483838 3 3l ATeh W & 3iebl T AN WS A 54 B g, A I IS & 3febl BT 3 &-
-

-

c 3

D Data inadequate

6]
Correct Ans : D

Subject : Mathematics

Q.No: 91 Red data book contains data related to:

2469399
e 3¢ g% H g § gefta et g g2
All plant species of northern hemisphere
A
Il e & it a7 wonfea
All animal species
B
ot SR it vt
Economically important animal species
C
e FU & Heaqul THEK Bt Fsfat
Endangered species
D

Eiseiegieised
Correct Ans : D

Subject : Environmental Study

Q.No: 92 Study of trends in human population growth and prediction of future growth is called-

2469790
AFE TGS GiHH ST Hea qu Ui 3 33 F1 SR T & $8d §-
Demography
A
ST
Biography
B
Eleie il
Kalography
Cc
et
D Psychology

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

5 © .l e ooms T T

RGO TR

24/43
Page - 24



S SR e SR TN RS R AR mmy T ST T T TR T R —m

RGO TR

Correct Ans : A

Subject : Environmental Study

Q.No: 93 Which one of the following is a goal oriented creative method of scientific learning of an on-going activity in which we discover what we know to what we don't know?
2470295

fFofafEd & & $F T 0P G967 3T WS WD ¢ ol g1 S 9Fd 8, I S I 9 § 98 Wioid 82

Problem solving

A
HHET Y
Role playing
B
ftret frm
Brain storming
Cc
R HyT
Field trip
D
e fafy

Correct Ans : A

Subject : Environmental Study

Q.No: 94 Teaching would be more effective if the teacher

2470320
Rrgror S yTdl SR afe Ruare-
Makes his intent purposeful
A
T I FY LAY TG
Is master of the subject
B
3 g & weRa 8
Uses various instructional aids
C
faftra fRueror weas wTEht 1 ST B
Declares his objective in the beginning
D

[T T AT IR WT B¥

Correct Ans : C

Subject : Environmental Study

Q.No: 95 Students can be given maximum knowledge of environmental studies

2470383
BEI & TafaRv ST $I Galfed JH ST o 9l §
by music education
A
it 1 e gR
by regional and world tourism
B
&t wd Ry wleT grr
by historical buildings
Cc
e FuRa gRT
Showing the parliament building
D

T9g T femmex
Correct Ans : B

Subject : Environmental Study

The Archaeoloaical Survev of India (AST) was established in which vear?

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 25/43
Page - 25



S SR e SR TN RS R AR mmy T ST T T TR T R —m

RGO TR

e e e ams ) e mesemiee (s erm) eeeme e mamariiesses tes sesereme ) ams

Q.No: 96
2470672

HRAT R TFeror (TEens) ) wio g af @t v e

1945
A

1945

1988
B

1988

1861
[+

1861

1999
D

1999

Correct Ans : C

Subject : Environmental Study

Q.No: 97  Ascaris infection is transmitted by;

2471987
THRE T fud gRI e ;
Mosquito bite
A
HB B PIeAT
Tse-tse flies
B
- wfdgar
Consuming uncooked pork
C
o1 9% QoR 31 ¥aT
Drinking water contaminated with eggs of Ascaris
D

THRE & St & gfta Tae
Correct Ans : D

Subject : Environmental Study

Q.No: 98 Birds who cover long distances to reach another land every year during a particular time because of climatic changes and for laying eggs as the weather in their natural habitat
2472410 co\d and inhospitable are known as?

T ueft ot SIararg aRdd & HRUT g% A1 U [ THT & SR gas! Y IR UgeR & O ddl g 9 aRa € iR 91 39 & R oA wipfae sar # Hrew 9gd do iR giiA 2 T 8, T Feak

residents birds

A
Frarh waft
flight birds
B
S5 ueh
Migratory birds
C
wardt et
travelling birds
D

AT R T get

Correct Ans : C

Subject : Environmental Study

Q.No: 99 Which one of the following statement is true about endemic species?
2472441

wifYe yenfadl & ar & Pofafed § 3 o9 1 $3 va 2

A They are found exclusively in a specific habitat
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 26/43
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3 TR w7 o ARy anvary & wrg s §

Endemic species can never become endangered
B

Qe werfoar s g 78 81 wadl

They are found only in zoos and botanical gardens
C

3 Faar FafsamrRt ok efy Sat & g o §

They are not affected by the destruction of their habitat
D

J I AN F =y T &

Correct Ans : A

Subject : Environmental Study

Q.No: 100 Which leaves are used for storing food grains at home?

2472484
W T 3T F USRI F AT 5 ot 1 Swa 5 o 82
Mahua leaves
A
TGN & T
Dried neem leaves
B
AT
Dhatura leaves
C
T T
Dried Tulsi leaves
D

T gl & T

Correct Ans : B

Subject : Environmental Study

Q.No: 101 After eating apple, orange, pomegranate and banana the test of orange was different from everyone else, because-
2472638

Jg, TR, AR R B WA & G YR BT @G arot gt F i o1, wifes-

Because vitamin A is the found in

A

9 e A urr o §

Because vitamin B is the found in
B

<o et B urar s &

Because calcium the found in
C

i SfeRmm urar S §

Because vitamin C is the found in
D

o faefi ¢ T S

Correct Ans : D

Subject : Environmental Study

Q.No: 102 Microorganism that grow very fast in humid condition

2472833
TS SRy H Fgd dolt g At GeH e §
Fungus

A
I (FLRE)

B Bacteria

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Sitarg
Yeast
C
i
Insects
D
Pl

Correct Ans : B

Subject : Environmental Study

Q.No: 103 which of the following Geosynchronous Satellite Launch vehicle (GSLV) Mk II launches was successful?

2473906
FrofifEd & 9 S 1 ygaE SuUg FHhE IAHe Wi 11 (SH.09.Ta. . A1 1) T&90 I5d 61
GSLV-F10/ EOS-03

A
SH.va T d.-UH10 / .37, UH.-03 (GSLV-F10/E0S-03)
GSLV-F06 / GSAT-5P

B
SH.va T d.-uho6 / SH&e-5dY (GSLV-FO6/GSAT-5P)
GSLV-F09 / GSAT-9

C
ST T T.-TH09 / SRAE-9 (GSLV-FO9/GSAT-9)
GSLV-F02 / INSAT-4C

D

SH.Ta. T d.-Th02 / Sie-4%T (GSLV-FO2/INSAT-4C)

Correct Ans : C

Subject : Environmental Study

Q.No: 104 In which state is the National Atmospheric Research Laboratory (NARL) located?

2473941
TP IYHS ST TRTRIE (NARL) e <red # fa 82
Tamil Nadu
A
afirerrg
Andhra Pradesh
B
s o=
Maharashtra
C
AR
Karnataka
D
HAled

Correct Ans : B

Subject : Environmental Study

Q.No: 105 Where is the ISRO Inertial Systems Unit (IISU) located?

2473943
) Rfaa Ren gfie (11su) @el Ria 22
Hyderabad
A
tmEE
Bengaluru
B
ange
C Thiruvananthapuram
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 28/43
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Correct Ans : C

Subject : Environmental Study

Q.No: 106 1In which year did Dr Bhabha establish the Atomic Energy Establishment, Trombay (AEET)?

2473948

g o & 7 T GRT TRATY SHolt TRIM 2 (TS § < 3 geormd o T2

1951
A

1951

1954
B

1954

1957
c

1957

1960
D

1960

Correct Ans : B

Subject : Environmental Study

Q.No: 107 The radio telescope “The Arecibo” had collapsed in -

2474085
TR W 991 WAl oy g SRRE 39 g6 T U
December 2020

A
e 2020
January 2022

B
S 2022
February 2021

[¢
TRAY 2021
March 2020

D
o 2020

Correct Ans : A

Subject : Environmental Study

Q.No: 108 In which year was the National Physical Laboratory formally opened?

2474139
AW ifere TRiRTTen @1 Sfu=ie w U § e @i m A
1950
A
1950
1955
B
1955
1960
C
1960
1963
D
1963
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Correct Ans : A

Subject : Environmental Study

Q.No: 109 John Barnabas is known for his contributions in the fields of:

2474191

S e &1 fpfafea &3 & & 5w direm & e s s g2

Molecular Systematics and Evolution

e el SR oy (AR Ridfeey T wdiegsH)

Dynamic Systematics and Evolution

S Rieifeed Te sdieqm

Rocket Systematics and Evolution

<ide Rrehfeaw ¢S saiegmA

Generic Systematics and Evolution

i R AR e Tdeqse

Correct Ans : A

Subject : Environmental Study

Q.No: 110 Which of the following is the largest sugarcane producing state in India?

2475773

el 7 3§ H YR A T 37 T IAEH T 82

Uttar Pradesh

TR TS

Gujarat

TR

West bengal

ufy s
Madhya Pradesh

e oW

Correct Ans : A

Subject : Environmental Study

Q.No: 111 The brand name of National Fertilizers Limited is popularly known in the market as

2475807

AT Wicargor fafies o1 sie 91 IR & ¥ ¥u T dishiE 3
KISAN

fram
KHETI

NFL

TP,
KRISHI

Fi

Correct Ans : A

Subject : Environmental Study

Q.No: 112 Sustained flow of a stream in the absence of direct runoff is known as:

2475926
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T 3UATE Bl ARG H TP URT & Ad I8 H Bl oiidl 3¢

base flow

A
SR YIaTE (S Welt)
direct flow

B
e WATE (STARaE Wil
strong flow

C
AT WATE (T el
straight flow

D

et aTE (e wi)
Correct Ans : A

Subject : Environmental Study

Q.No: 113 Which of the following is not a policy initiative taken by the Government of India in the seed sector?
2475935

Fafifad 7 @ S & die & 7 YRd WoR R 31 7S g gea e 82
Seeds Act, 1966

A
i efifaw, 1966
Seed Review Team-SRT (1968)
B
it wHiter q9-T9.9R.E. (1968)
National Commission on Agriculture’s Seed Group (1972)
C
PR sl A AL SN (1972)
Notion seeds policy (2002)
D

RO i fifd (2002)
Correct Ans : D

Subject : Environmental Study

Q.No: 114 Which of the following statements is incorrect about loosening of soil?
2475965

1. This does not allow the roots to penetrate deep into the soil.

2. The loose soil allows the roots to breathe easily

3. The loosened soil helps in the growth of earthworms and microbes present in the soil.

Frafifad & 9 B W FuF A & S & R A Tad 82

1. T8 S o1 T B TR O YA B ) oA e e B

2. Al Pt el @1 il 4 i O 3 &

3. it et gt g Fgeit ofv Aol & fawm o weg vt 71
Only 1

Fad 1
Only 2 and 3

Faq 2 R 3
Only 3

Fa 3
Only 1 and 3

Faer 1 iR 3

Correct Ans : A
Subject : Environmental Study

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

RGO TR

31/43
Page - 31



S SR e SR TN RS R AR mmy T ST T T TR T R —m

RGO TR

Q.No: 115 When is International Day for Biological Diversity celebrated?

2476604

sicrfg Sa fafaan feaw e wrmr s 82

3rd May
A

3%

12th May
B

127

21st May
Cc

217

22nd May
D

227

Correct Ans : D

Subject : Environmental Study

Q.No: 116 Which method of teaching learning EVS can be used at all stages for children of primary to higher classes ?

2477285
e & I Famel & a=i & g wvht Wl w Sdva v 3t o @l 1 S faan s w82
Source method
A
W fafy
Cooperative method
B
eani fafy
Discussion method
C
= fafy
Project method
D

afedier fafy

Correct Ans : A

Subject : Environmental Study

Q.No: 117 Which country has the most number of great one-horned rhinoceros?

2477816
1% 321 & e i e i1 ot 718 Ui Wit §2
China
A
it
Nepal
B
AT
South Africa
Cc
o et
India
D
HRd

Correct Ans : D

Subject : Environmental Study

Q.No: 118 1In which year did Job Charnock arrange to lease three villages (named Kolikata, Gobindapur, and Sutanuti) by the river Hugli in order to set up a trading post?
2477946

Sig aRAlS A SRS et RId B & R1g gomeht 7 & fFR & idl (@ifererar, MideqR SR gardh) 31 12 | 7 3 gawn fog af 3f d
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A 1690
1690
1701
B
1701
1713
C
1713
1724
D
1724

Correct Ans : A

Subject : Environmental Study

Q.No: 119 Who came up with the term ‘Urbanization’?

2477950
TG Yeg &1 ufaured faes fear
Dan Smith
A
& ey
Lewis Wright
B
T e
Mitchell Micheal
C
ol AR
Ildefons Cerda
D

Wi Jst
Correct Ans : D

Subject : Environmental Study

Q.No: 120 The main point of difference between evaluation and assessment is that -

2478497
TR IR e H ge SiiR T8 § o -
evaluation lacks judgement based on criterias while assessment doesn't.
A
Teaie & At & SR W Fiofy 3t o St Sl sireem & T e i g
assessment lacks judgement based on criterias while evaluation doesn’t.
B
ST & TS F SR R i 31 7ol €t § ey i & T e S g
assessment requires data while evaluation doesn‘t require data
C
T P 7T ST BT A<Dl Bidl & S Pl & (AT 32T BT SHaRaHal 61 ol o
evaluation requires data while assessment doesn’t require data
D

i & oY 321 Pt SHavawdl St § e HHa & T e 3 sfaxaemar T8l g 81
Correct Ans : B

Subject : Environmental Study

Q.No: 121 Which development makes child self- dependent?
2473580

PH-41 AT aras 31 AR ST 32
Psychophysical development

A
TR e

B Biological development
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S fewrr

Motor development
C

frarers e

Creative development
D

S e
Correct Ans : C

Subject : Child Developement

Q.No: 122 Which of the following process is more important in the field of social and cultural progress.

2473688
e qu Fieplae Wt & & # Fafaf@d 7§ 4 e ufha &1 998 oifte #ewa 31
Co-operation
A
e
Competition
B
wfoemef
Conflict
Cc
o
Differences
D

QUSHar
Correct Ans : A

Subject : Child Developement

Q.No: 123 Which of the following is not a personal factor affecting social development of child —

2473715
qIE F o e B Fm 7 ¥ P -9 sfaaa ged Hifad T8 Rl © -
Health
A
R
Emotion
B
LGS
Peer group
C
e wgg
Intelligence
D
=

Correct Ans : C

Subject : Child Developement

Q.No: 124 The pituitary gland is found in of the body.
2473828

R M WRF ........ B Ut St 21

Livery

A
Gicny
Kidney

B
et
Stomach

C
e
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D Braine

b ir5 i

Correct Ans : D
Subject : Child Developement

Q.No: 125 Abraham Maslow explained theory of motivation in 1954 in the perspective of

2474482
SfSTEH AR A 1954 7 (fiiRvl & Rigid 31 saren &\ few ufde & wwgmn mr
needs
A
ISl
reward
B
T
expectancy
C
e
objectives
D
s

Correct Ans : A

Subject : Child Developement

Q.No: 126 What should be the role of the teacher in reducing the effects of individual differences?
2474501
1. The teacher should try to adjust the curriculum as per the individual’s needs

2. the teacher should try to understand the abilities, aptitudes, and interests of the students

AIRRT HARGT & URUTH! 1 HH S 7 Rieeb B i1 @ g Aige?
1. g ot afd Bt SRl & STER UIGTHH B GARINK $R BT VAR HRAT Aoy
2. e 31 OE 1 &mTel, WiE iR SRAT ST T ST TN HIT 9ied

Only 1 is correct

PaT1 IR

Only 2 is correct

Paa2 9L

Both 1 and 2 is correct

1R 2R E

Neither 1 nor 2

AAdLARTE2

Correct Ans : C

Subject : Child Developement

Q.No: 127 A person having a highly structured attitude will

2476212
e TR efeior arar sfk g
give a poor cognitive response to a stimulus
A
TP Aol & Y O ERIe s fafar 3 arar
give a quick cognitive response to a stimulus
B
TP Il & RIT T @id SFes ufafbar &3 arer
have feelings and beliefs which are in conflict with his/her attitude
C

Tl e SR e § o Sue efbei & fanda & &
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D have good social impact

ST WIS THIE BT
Correct Ans : B
Subject : Child Developement

Q.No: 128 BCG is a vaccines against

2476745
BCG % wiaga da 3
Diptheria
A
feufifer
Whooping cough
B
FIel @ret
Tetanus
Cc
T
Tuberculosis
D

&R

Correct Ans : D

Subject : Child Developement

RGO TR

Q.No: 129 help to direct our attention to the task at hand, they mobilize our effort, they increase our persistence at the task and they also help us to adopt new strategies whe¢

2476876 help us.

_ MW gER oM MERE $ # 1eg $d 7, 3 TIR WU &) Efdd $d §, 3 B IR THR T5dl 961 § SR Ofd M AN Heg B34 § fArd 81 § ot 3 7S Yortifadt @ erem 7 of

Intelligence

A
£
Aptitude
B
e
Attitude
Cc
el
Goals
D
G

Correct Ans : D

Subject : Child Developement

Q.No: 130 Which of the following kinds of learning includes the changes which are not immediately observable.
2476968

e # 3 o uer & off @) aRem 7 § uRad7 it & o @¥d a9 9 1 81

Latent Learning

A
arfiea sifrm
Patent Learning
B
vy T
Psychological Learning
C
AR SR
Physiological Learning
D

RN AW

Correct Ans : A
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RGO TR

Subject : Child Developement

Q.No: 131 The network of ideas about oneself formulates what is known as our

2476992
T @ ¥ IR § Q9N &1 Jead QR H¥a § R gaR F T A ST o §
Self-motivation
A
IR
Self-concept
B
X SfaYRUT
Self-goal
[
3T e
Self-interest
D

w-F
Correct Ans : B

Subject : Child Developement

Q.No: 132 Since attitudes are learnt predispositions, they are affected by which one of the following?

2477005
I st et g4 vt 8, 3 Pafefee 3 3 e g mafda 3t 82
Prejudice
A
Feline)
Attitude
B
@
Stereotype
C
we
Reinforcement.
D

FeEdHR0

Correct Ans : D

Subject : Child Developement

Q.No: 133 individuals tend to see patterns as a whole, and have difficulty separating out specific aspects of a situation or pattern.
2477067

afad Yo &) T T A @A ¢, @R [ Rl a1 A & ARy uggsi &) sram &7 8 3¢ HiS St 31

Field dependent

A

&F-defd

Field independent
B

&7 srmsfiar

Impulsivity
Cc

31T

Reflectivity
D

TREA

Correct Ans : A

Subject : Child Developement

Q.No: 134 Which of the following is a time of radical adjustments and plateau in development and a hazardous period?
2477450

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 37/43
Page - 37



S I R i R A SR

Fafifed & 9 o g Afie Fader R Rem § siftd $1 e @ oafy g2
Early child hood

RGO TR

A
o e
Infancy
B
RN CH
Late childhood
C
T FIEGRIT
Adolescence
D

iR

Correct Ans : B

Subject : Child Developement

Q.No: 135 Who formulated the law of Heredity (Inheritance)?

2477520
e (R &1 fam feaa nfafea fare
Gregor Johann Mendel
A
IR & Asa
Erickson
B
sty
Jean Piaget
C
S e
Sigmund Freud
D

fomis wre
Correct Ans : A

Subject : Child Developement

Q.No: 136 According to Piaget, “Sucking and grasping” comes under which subdivision of sensory motor period?

2477563
T 3 SR, g SR TS YA iRe orafd % fow Sus % Sfatal ot §?
Hereditary reflexes
A
AR FOTelT
Acquired adaptation
B
Siffed srgge
Intentional behaviour
C
SIFEABR IER
Symbolic representation
D

[Gicac R DIEIDE
Correct Ans : A

Subject : Child Developement

Q.No: 137 which of the following is/are the focus/es of Inclusive education from the angle of Human Rights?
2478078

i) No discrimination of the children because of their learning ability

i) No discrimination of the children because of their social background

iii) No discrimination of the children because of their economical background

iv) No discrimination of the children because of their family background

Choose the correct code
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Fofifed ¥ & sH-11/8 7 sRERT & e 3 waash Rier &1 view 3/8?
i) T 3 WY B &1 F BRU TP WY B Aguid Tl

ii) TS gEYH & RO Tl S A DI NGHE Tal

iii) 3nffer guyfil & BRU T & Y B NGHE TG

iv) TR g4 & SR S & Y Pis WeUE ot

wE B8 IH
ii) only
A
ii) Faa
ii), iii) and iv) only
B
i), iii) @R iv) Faa
ii) and iv) only
C
i) 3R iv) Haa
i),ii), iii) and iv) only
D

i),ii), iii) 3R iv) Haa
Correct Ans : D

Subject : Child Developement

Q.No: 138 Which of the following system is true?
2478106
i) Integration focuses upon changing the system
ii) Inclusion focuses upon changing a child

Choose the correct code

Frofifed # 3 o1 9 yoreh 93 82

i) TPIDRU WU b g W Hied §
ii) THRR UF 9= P g | Hidd ©
T BIS gH

i) only

i) ¥aa

ii) only

ii) aa
both i) and ii)

gt i) SR i)

Neither i) nor ii)

F@ i) Ad i)
Correct Ans : D

Subject : Child Developement

Q.No: 139 Children belonging to socially disadvantaged groups may have .
2478180

i) Common needs and challenges

i) Unique needs and challenges

Choose the correct code

TG FUdRT TR S A=A G addi gl
i) 3 SRERd SR grforat
ii) S s @ik R
T IS g1
A i) only
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i) Fad

RGO TR

ii) only
B
ii) Faq
both i) and ii)
c
2rt i) 3R i)
neither i) nor ii)
D

Tdi) T i)
Correct Ans : C

Subject : Child Developement

Q.No: 140 which of the following is NOT a characteristic of intellectually bright children?

2478344
e # 3 1 HigT wU S Soa a= 3 kv T
They try to explore all the time
A
I TR Y AR BT PI PR &
They learn any topic thoroughly
B
3 it +f v 1 ot v WA
They do not ask many kinds of questions
C
3 %% WE & 9 ol god
They engage themselves best in any given work
D

3 forddt ot 3w 0 o & g ) TIAE T I o B §
Correct Ans : C
Subject : Child Developement

Q.No: 141 Chromosomal disorder “*“Down syndrome” is also known as

2478863

U faaR e Rigm & & w0 & ff 91 o @

Trisomy 21
A

I 21

Trisomy 22
B

EL: i )]

Trisomy 23
C

TrRam 23

Trisomy 24
D

RN 24

Correct Ans : A

Subject : Child Developement

Q.No: 142 which of the following sub-component under the Componential Intelligence is responsible for actually doing things?

2479791
fafafed & 3 o1 1 9U-9cs, Tea IuiGid & ded, Aad feH S I aRad § Sl 82
Meta Component
A
e
Performance Component
B
e e
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C Knowledge Acquisition Component

FHCH TTF

Associated Component

Gdet ue
Correct Ans : B
Subject : Child Developement

24,\;09811463 According to the theory of Raymond Cattell, refers to the ability for abstract and logical thinking, and does not require any prior knowledge.
i H2w & Rigid ¥ IR, o oIR e v ) e 1 el S 2, IR g g Rl O 9 99 sz 7 € 31
Fluid intelligence
A
e g (vEs $efet)
crystalized intelligence
B
B e (freeagos RfeiE)
Concrete Intelligence
C
il e (Fete eRr)
Social Intelligence
D

I i (e SR
Correct Ans : A

Subject : Child Developement

Q.No: 144 Which of the following is an example of extrinsic motivation?

2479868

Frafifea # 3 S ST ARERT F1 e 32

I dress properly to school to avoid punishment.
A

T R ¥ & e & wpa & R e § $93 veTar g

I like crafts that’s why I finish that homework first.
B

73 e e § R § 759 98 gt [ A §l

I study math in my free time because it is fun.
C

B o @relt T & TN Yol § IS 9% A9ER gl

I like to swim that’s why I practice for 2 extra hours.
D

T R T § e B 2 1 sifafka onar SRt EI
Correct Ans : A
Subject : Child Developement

Q.No: 145 Which of the following laws given by Thorndike is most associated with Motivation?

2480001
yrisE® g1 faar w fFufefed § & $-w faw sfiRe & vaiftes wefa 32
Law of readiness
A
R 1 e
Law of exercise
B
3pary &1 faw
Law of effect
c
PricEoaEee)
D Law of Multiple responses
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g wfafsrar frag
Correct Ans : C

Subject : Child Developement

Q.No: 146 Which among the following is not correct regarding emotional development in later childhood?

2480079

AU F TIE § s AP & weiy § o § 8 o8 el W e

Children in later childhood retain all emotions which they have developed in early childhood.
A

FIUH ¥ 915 § o 7 i Sl o) SRR T § S 991 v § ReRa o #)

Children learn to control their emotions, the reason and stimulus behind the origination of emotions.
B

q& GIrel B Iafa F WD g wigTel, BRU 3R e B Frifa s ded €

Children also learn about socially expected and unexpected emotions.
C

o W Y ¥ Sifa o st W & R ¥ oft e B

Heredity becomes the significant factor that affect their emotions.
D

FTERIBAT FTH AT B TG B el A qyf PRSP & it g1
Correct Ans : D

Subject : Child Developement

Q.No: 147 Feelings are requirement for the emergence of emotions
2480113
A P IEd & [AY GaT BT STIIH Bl §
Sufficient
A
Lo
Necessary
B
=
Only
C
Fad
Barely
D
R

Correct Ans : B

Subject : Child Developement

Q.No: 148 The Right to Education Act, 2009 specifies that if the number of children admitted for first class to fifth class is above two hundred then the pupil-teacher ratio required is.
2480651

e &7 SR Siffaw, 2009 & <y g a1 § T Fenl-1 A Fe-5 9@ afe w4y G4 T foenfiae ot dem 31 & ¥ ot €, o faendf - siee snawa® Sfgurd grml

30
A
LIk
40
B
EIGiT
45
C
PhIGIE:
50
D
TN

Correct Ans : B

Subject : Child Developement
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Q.No: 149 Which of the following is not the theory of intelligence?

2480678
i & A B g &1 Rigia 78 82
Unifactor theory
A
TH-ad Rigia
Two-factor theory
B
f-a Rigia
Theory of regression
[
WA 1 Risid
Multifactor theory
D

qgad Risid
Correct Ans : C

Subject : Child Developement

Q.No: 150 Giftedness is-
2480773
1. Inheritance
2. Environmental motivation

3. Genetics

iR weor § -
1. S

2. AR A
3. iR

Only 1 is correct

FIA LW

Only 1 & 2 is correct

Faa 1R 29T
Only 2 & 3 is correct

FacT 2 IR 3w
Only 1 & 3 is correct

PIq1 AR TAE

Correct Ans : C

Subject : Child Developement
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